
Subject: Re: Two problems (1 serious) with TreeCtrl
Posted by mirek on Thu, 17 May 2007 17:18:02 GMT
View Forum Message <> Reply to Message

Hopefully, this should fix the second problem:

void TreeCtrl::SyncTree()
{
	if(!dirty)
		return;
	if(noroot)
		Open(0);
	Ptr<Ctrl> restorefocus = GetFocusChildDeep();
	hasctrls = false;
	int cursorid = GetCursor();
	for(int i = 0; i < item.GetCount(); i++)
		item[i].linei = -1;
	line.Clear();
	Size treesize = Size(0, 0);
	if(noroot) {
		if(GetChildCount(0))
			treesize.cy = -item[0].GetSize().cy;
		ReLine(0, -1, treesize);
	}
	else
		ReLine(0, 0, treesize);
	treesize.cy = max(0, treesize.cy);
	treesize.cx += levelcx;
	sb.SetTotal(treesize);
	cursor = -1;
	dirty = false;
	if(cursorid >= 0)
		SetCursor(cursorid, false, false, false);
	SyncCtrls(true, restorefocus);
	SyncInfo();
}

void TreeCtrl::SetCursorLine(int i, bool sc, bool sel, bool cb)
{
	if(nocursor)
		return;
	if(sel && multiselect) {
		ClearSelection();
		SelectOne(line[i].itemi, true);
	}
	if(i != cursor) {
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		i = minmax(i, 0, line.GetCount() - 1);
		if(i < 0) return;
		Item& m = item[line[i].itemi];
		if(sc)
			sb.ScrollIntoY(line[i].y, m.GetSize().cy);
		RefreshLine(cursor);
		cursor = i;
		RefreshLine(cursor);
		if(m.ctrl && m.ctrl->SetWantFocus())
			return;
		if(cb) {
			WhenCursor();
			WhenSel();
		}
	}
}

void TreeCtrl::SetCursor(int id, bool sc, bool sel, bool cb)
{
	while(id > 0) {
		ASSERT(id >= 0 && id < item.GetCount());
		MakeVisible(id);
		SyncTree();
		const Item& m = item[id];
		if(m.linei >= 0) {
			SetCursorLine(m.linei, sc, sel, cb);
			return;
		}
		id = m.parent;
	}
	SetCursorLine(0, sc, sel, cb);
}
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